Installation Instructions

efcussioh
ld* 1. Mark hole positions on waII, Install Instrument with 1m free space (from widest point) around it.
43 then drill to manufacturers )
G Vil e specified diameter and depth I im {} {} im :
i e of M10 rawl bolt (See Wall Fix 9 /!
installation sheet) \\ 1m e
e
Wall Fixed i
Wall Marimba
Page 1 of 3

2. Once holes are drilled insert

M10 rawl bolts into holes and
’ set in place to secure tightly

/3. Attach wall mounts onto N
| rawl bolts making sure they
Cnstrumentt ) are tight to the wall and have '
omponents: the large holes to the outside. '
Use a long tool to tighten
p X2

further.

..
M8 Barrel Nut /
-
i ’
Ground Surface
Wall t . B e
el mounts 4. Once all mounts are fixed in
Metric Conversion: place attach the note:s using K52~ 850mm
700mm/ 28" M8 Barrel Nuts and Pin torx
850mm/ 33” bit. KS1-700mm
1m/39”
‘ Weight of heaviest part 12kg (Wall Marimba Notes)
) - . . . . Spares available form

MADE IN / pair Small Red Wa!l f|X|ngs are not sgpplled, installer will select suitable method percussionplaycom or from your 14 Kg

BRITAIN ) Beaters X1 of fixing. Suggested Fixing M10 Rawl Bolt local distributor

BSEN 1176




ercussioh ASS@W\HY G(Uidﬁ PPWMAK

l% -

Outdoor Musical Instruments TX 40 Driver Bit

for everyone, everywrere,

Wall Fixed

Wall Marimba
Page 2 of 3 COMPONENTS LIST:

o M8 Barrel Nut Pin torx X4

© Q ]| ™ I~ - L] L
I ™ ~ = = o — Q oo
Instrument
Components: B | || | - I —— Q o
(] Q e E—— — — = 1 | /
x2 Thread Lock Solution
M8 Barrel Nut Required (Not Supplied)

Thread Lock Solution
Required (Not Supplied)

Thread Lock Solution
Required (Not Supplied)

N\

A

- . . . . S ilable f
MADE IN ’//'/‘ Pair Small Red Wall fixings are not supplied, installer will select suitable method percuszz;\ﬁaayg:w? osfr(:)rrr:your 14 Kg
BRITAIN ) Beaters X1 of fixing. Suggested Fixing M10 Rawl Bolt local distributor
BS EN 1176




Wall Fix Installation

ercussioh
Tools:
ld.g 1. Mark hole positions . 2. Drill holes .
® S
Oufdoor Musical Instruments TX 45 Driver Bit
for everyone, everywhere

Wall Fixed

Wall Marimba
Page 3 of 3

T T e L L T T

H.{ ‘
5
\

1490 /N /

/8
1507 | H: / /

- 300
r'!%;g“’r
7

Instrument 3. Fit wall mounts . 4. Attach notes .
Components:

9X2

M8 Barrel Nut

— —_

® | e =
== D =
Wall mounts % c@:D | [ :%
- I -
N\
N
MADE IN
BRITAIN

BSEN 1176



